Make Up
Test 1

Question 1

The graph of thefunction

flx)= 522

x +7x+12

has a horizontal asymptote. If the graph crosses this asymptote, then give the x-coordinate
of the intersection. Otherwise, statethat the graph does not cross the asymptote.

a) r=4
b) =10
C) x=3
d) x=6
€) The graph does not cross the asymptore.

f) None of the above.

Question 2

Simplify

] —cos x+ I';s:inI .r} I[a:«ntI .1'}

a) cscix)

b) COS x



d) 1
€) sin(x) cos{x)

f) None of the above.

Question 3

Find the coordinates of the x-inter cept(s) for

¥

Flx) =- +3x— 18
¥ —Rx+ 15

L et

a  (05)and (0,6)
b)  (-30)and (-6,0)
0 (30

d  (-60)

e  (03)and (0-6)

f) None of the above.

Question 4

Find thelinear function f with both (-7,-6)and (-4, -2) on thegraph of f ™.



d) flx)= 7 x—4

€) fix)=x—1

f) None of the above.

Question 5
Given
[h(x)=x"— 2. glx)=x — 1, f(x) =x" — 4]
Find
fle(l) +hA(1))

a) -2
b) 65
C) -3
d -4
€) 5

f) None of the above.

Question 6

Find all roots of the polynomial:

plx)=-4x —28x +36x+ 252



f) None of the above.

Question 7

Which of thefollowing graphsrepresentsthe given function?

flx)=-3x +12



b)

Lad —f

0

-3

Lad —



d)

5 -4 -3 -2 -1 0 23
_] .

[ T T T

-5 -4 -3 z 3




€)

f) None of the above.

Question 8

Perform theindicated operation and reduce completely.

x X ]

-

= —_ J—

x —4 .1'1—2.1'—3 .1'1—(1.'-.'—3

In reduced form, the numerator is:

a) Sx+2
by  1lx—10
)  -3x—2x +52x +8x—160

d  -3x+10



g x4+5x+x —10

f) None of the above.

Question 9

Simplify the following.

I 20
x oy
a) x+ 2
610
vox
b) x—2
x—2
0 E
x—2
d) REN
x+2
9 U

f) None of the above.

Question 10

Given

Simplify

[.1':—4.1'—4 )
11 13 J
xr oy

fio = (x+4)7 =1



fleth)—Flx)
h L h=10

when x = 2.
a) -12+h
b) 35+h
W+ 8 h—20
C) h
d) 12+ h

e (h+4)" —1

f) None of the above.

Question 11

Given
fix) =6 v —dx
gix) = Y +x—30

e |,

Find the domain of

a) (-0, -6)U(5, )
b) (-0, -5)U(-5, 6)U(6, =)
0 (-0, -6)U(-6, 5)U(5, )

d) (-0, 2/3)U(23, )



€) (o0, -6]U[5, =)

f) None of the above.

Question 12

Theline perpendicular to the line which containsthe points (5, -4) and (3, 2) has slope

a) -3
by 3
) -
d %
e -%

f) None of the above.

Question 13

Find the x-coordinates of the points of intersection for the following functions below:

flx)=x" +8x+ 14

glx)= ' —8x—8



f) None of the above.

Question 14

Supposethat triangle ABC hasm 2 C = 90°, AC =4 and AB = 12. Find cot(A) and csc(B).

) cot(A4) =410, csc(B) = 11? 1,.-?]
b cot(A4) = % J2.cse(B) = ;—]

0 [cot(d) =3, csc(B) =22 ]

) cot(d) == /2. csc(B) = 3]

e [cot(4)=8 2. csc(B) =48 /10 |

f) None of the above.

Question 15

Given cot(0) = - Y5and % < 0 <=, find sin(@).

a) IER
30—
b) 15 /10
23



f) None of the above.

Question 16

Determinethe angle x in the triangle given below with AB =11 and AC =5.
C

50—
a) x= 1r+:+:n~:[m J 146 J
= arcsin 2y 146 )
b) x a6 W ]J
11—
) x = arctan Ti6 y 1—1(]
5
d) x= 'm:ﬂn[ 11
1r+:~:m[ )
= -
€) 5

f) None of the above.

Question 17

Put the equation in standard form for an ellipse.

45" —16x+ 16y +323=32



1 2,1 2 _
2 T =+ g =
L.:_l_ ':1
b) 1(] X 4 ]
1 2, 1 2 _
o 1e DT+ (=27
1 2 | 2
) TR IR G VA
SR S
D) I T

f) None of the above.

Question 18

Find the coordinates of the vertex for the following parabola.

Ixr—3x4+4—y=0

N [;— uj
y (7%
o (74
d) (0, 4)

e (-3.40)



f) None of the above.

Question 19

Solvefor 0 given

ZeosB+1=0
and
0 <0<
Zx
a) 3
b) na sofution on the given interval
LR
C) 3
d 6"
g
€) 3
f) None of the above.
Question 20
Find f(1) given
| -2x—4 x< -3
fix) =1 1 -3 <xyand x <10

-3 .1': -2 0=<x



a) 6

b) -10

C) 1

d) -6

€) -5

f) None of the above.

Question 21

Simplify
LS a+ S

a) X X
e LY

b) E i
Y RO

C) x X
PR A |

d) x x
L .

€) X

f) None of the above.

Question 22




A circle containsthe four vertices of a square with side of length 13. The area of theregion
outsidethe square and insidethecircleis

a) 169 2 n— 169
169 :
— 1 — 169
b) 5 T 16
169 _ 169
C) 2 |
169
g —
d) 169 n 5
169 169
€) 1 2

f) None of the above.

Question 23

If x =3, find the smallest value of y which satisfies

Vox+3pe £24=0

a |
b) -8
0 2
d -1
o 3

f) None of the above.



Question 24

Theinequality (x+ 3] (x+ 2} > Qisequivalent to

a) {3<xorx<2}

b) {x=<-3or -2 <x}
C) -3<x

d) x< -2

€) (-3 <xand x < -2}

f) None of the above.

Question 25

Solve the system of equationsfor x and y.

2x—3y=5

—3x—2y=3]

=L ,=_21

a) S E R
S

b) BN ERENT
U —

0) BN ERENE
S .

d) HNERENE

€) The system does not have a solution.



f) None of the above.



